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— ORI WY IYYR
They set higher standards in regards to Kohannic lineage

OVERVIEW

The Rn3 asked that the ruling of 27 (that 797°7 ¥ 110w 1°X) contradicts the
ruling of > (according to >7°¥7) that NInX1 7°X. The X713 answered that there
1s no contradiction. The ruling of "9 is concerning (a subsequent) marriage
to 7372, therefore she is NIMRI 71K, since 1012 WY 79vn; however the ruling
of 27 is not concerning marriage to 11172. It follows therefore that the
leniency of 17 is concerning an WX NWX. An WX NWX that was 71> N» is not
7oy 7oK, because T does not presume 7x°3. It is not conceivable that
27 is discussing a 19, for even if a 7"M15 was 19¥2), the only possible
(subsequent) MOX is to a 122 and we just concluded that 17 is not
discussing 7111772 MOX.

The complete statement of 27 (as cited in our X23) is PO PRI T 2¥ PPoR
7mn 9y, The apparent understanding is that these two ruling are discussing
the same case; if there was a T, 7"2 will give mpon (for this act of Mx>»);
however there will be no subsequent M0°X ramifications. Md01N will ask that
it seems from another X n3 that these two rulings are discussing different
cases, which seems illogical.

nvoIn asks:
= 1199393 XD YWIN HYNI 299N TINN DY PIDIN 1PRT YHWNT 190N

It is astounding! For this answer of 'ponva wy 1%y, indicates that the
ruling of '7I7977 %¥ 19X PR’ is discussing a case of a married woman and

it is not discussing a case of an unmarried woman. The X3 reconciles the
rulings of 27 and °"; that the reason °"1 is strict is because in his case there are
ramification for marrying into 7275 (and by 737> we are more strict, since WY 79
70mM°2); however in the case of 17, there are no such ramifications (therefore 27 is
lenient). This answer is valid if 27 is discussing the 7> of an WX NWX and the (only)
concern is whether she is permitted to return to her husband. However, if 27 is discussing
the 7 of a 719, then the concern whether there was 7X°2 or not, is (also only) in
reference to whether she may marry a 372. This is precisely the same concern as in the

' An X nwx that was 17¥12 7317 is 707 79 75V25 TII0K.
* There is no X in marrying a woman who was 77921 (even outside of marriage). Even a 177> may marry a
72w2 provided that she was not 79921 to a 2"131 2 1Pn3.
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case of °"1! In fact it is (almost3) the exact same case! Why is "1 strict and 27 lenient!?
We must therefore conclude that 77°7 %9 1PI0IR PR is discussing an X nwX. However
there is a difficulty with this —

= 119392 XPYT TINYN DY 2P 2P (0w 5,80 97 PYITIP 9102)
For in the end of Pw7sp noon, *wX 17 there establishes that the ruling of

7o DY PR’ is only specifically in the case of a 7719115 —
- P93 DY 1YY NI NNNT NY WIN NUNA YaN

However if there was 797> by an @R nwR, there is no Mpon; the reason is as
the X3 there states for you will be spreading (false) rumors about her

children. The question is since the opening ruling of 21 that 771 ¥ PPo7, is discussing
a 719 and not an WX NWX, it would seem obvious that the ruling immediately following,
of T H¥ IO PR is a continuation of the former ruling and is also discussing a 7"
and not an w°X nwX. However our X113 indicates that 77 ¥ PI0IR PR is discussing only
an X NWX and not a 7"19!

mMooIN anticipates a possible (partial) solution to this question and rejects it:
= YIN HYNI 19919 1PPINT RIVR 919 179N

And (the question stands) even according to X9 9% who disagrees with 27
WX and maintains that even by an X nwX we are p» for 7, and in

order to prevent ;112 H¥ 1Y% NRXY7, we announce that we only know that there was
77 (not X°2). Seemingly according to XY 91, there is no difficulty; since Tn 9y 1P
refers to an WX NWR, so does TN HY IO PR refer to an w R nwX. This is seemingly in
agreement with the y17°n of the X ni. Nevertheless MooIn rejects the solution (even)
according to Xu1T ; for even X7V N —

— Y97N 12) 13927 NN
agrees that the ruling of 77°17 % 1p%n is also discussing the case of a 77D
as well as an v} nwX.” He is only adding to *wx 27, that not only does 11 9 1pon apply
to a 719 it can even apply to an WX nWX. It should therefore follow, that the X9°0 of the
ruling 77 Y PI0IR PRI s also discussing a 7710 (as well as an WX nWX), just like 1P
7 9. The question remains: if 77 9V P00 PX is referring to a 719 (also), then the
only concern by a 17115 is whether she remains 723737 2n; if we maintain 1°0n2 WY 79Yn
for °"7, it should apply to the case of 27 as well.

3 In the case of *"1 she admits that ("w3%) *n%v23; in the case of 27 she claims *n%¥21 8. See 071w MdOMN.
*If an wX NwX that was T°nn with a stranger would receive mp92, it would be perceived that she was .
If it is assumed that she was 171, then any (ensuing) children will be looked on as o°7109. They are either
from the 9312 (in which case they are n"; o) or (even) from her husband (in which case they are °1a
IR "27n, for she is forbidden to her husband).
> See ‘Thinking it over’.
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N1B0IN answers:
- 1191392 Y9N TINYN YY PPINT 32 HY NT DN 13539 IIN)

And the n''= says that even though that the ruling of 77 % ph» is
(certainly) discussing the case of a 119112, however the ruling of —

= YN NYUNA NN 999N KD 9091 HY PI0IN PN
'777°7 DY 10 PR’ is not discussing the case of a 7719 (according to 7°¥T)
but rather it is discussing a case of an WK NWN. It is the view of the 0" that on
account of the difficulty of m»oIn question, we are forced to split the two rulings of 2.
The first ruling of T Yy 1P%n is definitely concerning a 719 (and also an W°R NWX
according to X701 Tn); however the second ruling of 77 %Y PI0W PR is only concerning

an ¥R nwX. However by a 71> of a ™15 the ruling, according to >"7 (according to °¥7),
would be that she is 71797 710K.°

mooIn has an additional question:
= (3,8 97 ©97)7 NN 2992 1°99N N 9NN ON)

And if you will say; that we have learnt in the last 295 of 29721 noon —
= NOHNR NINNT NN DYT NI XINN *3)

concerning this adulterer who entered the house of this woman. The xn3
there relates that when he was (hiding) in the house he noticed that a poisonous snake ate
some of the food in the house. When the 7X1 realized that the husband returned home the

AR appeared and -
= NN 1NNV 11131 91595 RD NI 19D 9NIN

The nR11 said to the husband do not eat from those foods for a snake

tasted them and poisoned them. The husband then asked if he is permitted to live with

his wife, since the AX11 may have had relations with her —
= IO 11X RN NNMDIN Ta¥T NIPN ON NIV RNIPN N2 90N

X219 ruled that the woman is permitted to be with her husband. X217 gave a
reason for his ruling, for if it happened that he transgressed with the

woman he would have preferred that the husband die; he would not have

prevented him from eating the poisonous fruit. This proves that there was no x°2.
= N2 215 HY NIONI NN RNYV IND IND INT YNPYUN

It seems from the fact that 27 required a reason to permit the woman to her
husband that if there was no such reason she would be 79v2% 77K just

® The reason why by a T of a 715 she is 717727 710K (for we assume there was [m1%1 PR19] 7%°2), and by
a Ty of an WK NWX she is 77¥2% N (we assume there was no 7IR°32), is (the answer of our X%3) that 79vn
o2 Wwy. In reality we assume there was no 7X°2 by a 71°; however we will not allow her to marry a 773,
since 1om2 Wy noyn. The simple explanation is that the 712 can marry anyone else (besides a 772); the
R NwX however will become 79¥2% 71108. We do not wish to do this, since it is based only on a po.
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through the 7% alone. This contradicts what has been said up to now that 01X PR
7in Y refers specifically to an vk nwX. There is no need for any additional proofs to
permit the husband and wife to remain together.

NN answers:

= INY GNNT MY U
And one can say that by a nR1 it is different. There is more suspicion by a Ax1
than by a 7> with a ‘regular’ person. Therefore X217 required additional proof that there
was no nN°2.

mooin offers a different interpretation:

= TN TY 1PPDNI 135 D392 Y9N NN DY DITDIN PNRT NN JOIOWT GO 29 29)
And Ju°5w7 7o "1 answered M0N0 original question that the ruling of N
TINT B PI0IN is concerning a 712 just like the ruling of 77 DY P9 is
concerning a i"19. This interpretation removes Mo0IN original question; how is it possible
that T°n %Y PpYn is discussing a 7" and TP BV PI0IR PR is concerning an WX NWX.
According to J0*9w7 *", they are both concerning a 715.” However there still remains the
question, that if TI7°7 9¥ 170 PR is concerning a 719 why is this any different than the
case of >"1 where 701172 WY 75V,

moon explains that the ruling of 717°7 %9 PI0W PR —
— AN DY THNNYI 12D AN PIDIN PR NIN 191N9D 999N XD

And we are not discussing her eligibility to marry into 7172; for she is
indeed 117152 770K since POM2 WY 7°¥» but rather the ruling of 21 that PR
TN YV PO teaches us that we do not prohibit her from marrying his
son when she was 7n>n» with the father. If she was 7> n» with 2py°, she may
marry j2W the son of 1py°, for we do not assume that there was 7%°2. This rule is

necessary (specifically) —
$(8,38 M) AN NDINNA YONRT NNNY %290

according to °''1 who prohibits the relationship of a person with a woman

who was (even merely) forced by his father. One may not marry his father’s
wife (xn»x7n) if they were legally married. However if a father had a forced
relationship with a woman; there is no MoX for the father’s son (from a different
marriage) to later marry her, since she is not the father’s wife. >"7 however maintains that
there is an XN»MIRTY 710K even by 1IaX NOIX. 27 is teaching us that if there was merely
7 with the father, the son may marry this woman (who was 77°°n» with his father). We

7 As far as the question from 2°771 is concerned, the answer will be the same, that *IXw fX11.
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do not assume that there was any X3, just i

SUMMARY

The ruling of M7 ¥ 1°P97 is concerning a 7115 (and an WX NWX according
to X1V Tn); however the ruling of 77 ¥ PI0W PR is concerning only an
Tovah gnah wOR NWR. A WX that was 7mnn with a X1 would need
additional proof 75v2% 77°nnb.

T0°%Wwn Ao 1" maintains that TI7°7 %Y PO PR iS to permit a son to marry a
woman who was 71> nn with his father [(even) according to 7717 1].

THINKING IT OVER

mooIN assumes that XV 1 agrees that 7nn %y 1°P%n refers to a 710 (as
well as to an v nwx).” Why does mpoin assume this? Perhaps X7v1r 2n
maintains that 777°77 9¥ 1P refers only to an WX nwX?!

¥ In this case there is no 10N WY 79¥n, since we are not dealing with a 175 (see [however] footnote # 6).
? See footnote # 5.
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